CHAPTER 5 ANSWERS

€ xercises, pp. 262-263

1. 21003, 103

2. 35 310 30, 3:30, or 1, 11010, 1:10
% 3% 5 miles per hour

& —'f—%‘ 12 points per game

L 3 Thclo-lbboxlsabetterpncebecausaﬂ\oumtpriafora

lo-lb box is lower than fora 5-b box.
s 2 £ 25 to 30, 25:30, or 3-, 5t0 6, 5:6
1. B, 25 t0 70, 25:70, or %, 5 to 14, 5:14
& 33,30t015,30:15,0r £, 2t0 1, 221
9. 33,4510 25,45:25,0r 3, 910 5,9:5
10. &5}# 12.5 miles per hour
1. %, 37 per CD n 3 gf, 5 ounces per quart

13. André paid the higher price per gallon, $1.30. Jonie's price
per gallon was $1.07.

18, %oiz, 2%9.6-&' 4 8522, '1%’2‘%' the 128-ounce botﬂe

18, 2:1, ]3,'2 to 1; 3:1, T' 3to 1,4.1, T 4to1;3:2, 5, 3to2;
43,4 4103

16. a. —‘_,;g—'g-‘-

b. Dmde both the numerator and the denominator by 33;

mowu‘m—h— [}
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@ Exercises, pp. 270-271
l.x= 2. p=875
3. m= 164 4 t=2
5.30b 6. x =20
7. h =144 8.r=65
9. v =336 1. x =9

1. t = 36 1. s =48
13. n =224 14. 95.63 mm

18, 227 grams 16, Possible answer: h = 8;%

17. Possible answer: x = 2; 3—%

18, Possible answer: t = 117; 18§

19. Possible answer: w = 18; —}%

20. Possible answer: y = 8.5; %

21. Possible answer: x = 90; ]2—0
22. Possible answer: m = 35; ZBQ

23. Possible answer: g = 17.4; —2%1

24. Possible answer: r = 15; '3603

25. Possible answer: k = 324; %
26. Possible answer: p = 45; “‘)%0
27. Possible answer: j = 16.5; ;g

; .6 _ 10
28. Possible answer: 8= %

Soprmgh & by ok, Pt aet hreion 94
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) exercises, pp. 262-263 (continucer

17. 7 < and ; < 5, therefore, the ratios of water pressures
are Iess at greater depths.

1. n=6 19. c=15

20. b= 15 M. m=5

22. Possible answer: 2, 3, %

23. Possible answer: —]% —%, 12(2—)

24. Possible answer: %, %, =

28, POSSIble answer: % 12%, lzg

26. 2 3

2.} 2.}

3. B
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@ Exercises, pp. 270-271 (continued)

29. Possible answer: ]40 = ]—65— 30. Possible answer: —47 = 57—
31. Possible answer: 735— —113—0— 32. Possible answer: —355 = ‘—‘7—
33. Possible answer: % 79—% 34. 25 paper clips

38. 3 hours

36. a. Within the Tuesday sample of 100 fish, 4 had been part
of the Monday sample.
b. 22

% 50,
© 185 = 2% n = 1,250 fish

37. 105 oxygen atoms 38. 3.4 quarts

39. 3km

40. What amount of sautéed fish, in ounces, contains 60 grams
of protein?

41, Possible answer: | got 9 out of 12 questions correct on
a test. | can find out my score by using the proportion
3 = &5 My score is 75.

#2. Multiply both ratios by b and simplify. Then multiply both
by d and simplify.

b—- bora= Cg;a-d=%b'dorad=cb,which
shows that the cross products are equal.
3. y=3 44.n=-13
45. x = 13 46. 5.44
47. 15.03 48. 2.828
49. D 50. F
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@ Exercises, pp. 274-275 @ Exercises, pp. 274-275 (continued)
1000 mL _
1. 640z 5 6 oz =41b 2. 2L 5= =2000mL 28. Choose the unit conversion factor that, when multiplied,
3. 3]2 sft . 1]2 in. 33]4 in, 4 Tﬁ‘n 75 %‘% &3’1 2 3 will eliminate the units you want to change and will
5. 1,423 mi - - ?lnf'm L%ooﬁgﬁ_ = 2,291,030 m substitute them for the ones that will solve the problem.
6. 35qt- T‘?ﬁ - 7pt 7. 48 in. lzf:: — a4t 27. 300 miles 8. Possible answer: 120
g, 63360ft 1mi__ 12mi * 29. Possible answer: —540 30. Possible answer: 6
» “Th ' 5280f _1h 31. Jor2l 32. Sor12
9. TS% . 60‘ nr.‘"n %Dm]; 10. 160 centimeters * ?3 3 " 300' 13 .
n. l;f; 12, ]?nﬁm 33. 37 34. T0f233—
13, A0 14, 3&t 35.D 36. H
* 60 min Tyd
15. 35 ft 16. 3,600 s (
17. 2,000 m 18. 70,560 min
19. 4.5 gal 20. 05L
21. 6 minutes faster
22. a. 0.615 Earth years
b. 4.9 Venus years
¢. Possible answers: 12 years old on Earth is about 20
Venus years, 0 Neptune years, 6 Mars years; 13 years old
on Earth is about 21 Venus years, 0 Neptune years,
7 Mars years.
23. 6.8 stone 24. $225
25. Possible answer: How many minutes are there in the
month of June?
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@ Exercises, pp. 282-283 (continued)

1. Similar: "DE‘ %g = %’ % = T = % = 15. No; parallelograms do not all have the same angle
2. Not similar: 82 » 85, 3.+ 3 60 # 75 measures.
3. Similar: Correspondmg sides are proportional. 16. No; the acute angles of a right triangle are not the same in

Corresponding angles have equal measures. z\fefY f:sht triangle.
4. Not similar: Corresponding sides are not proportional. 17. g or 1z
5. Not similar: 2§ # JL. : 18 12’ 3.3 18. Possible answer: To find out whether triangles are similar,

CD DE WCE 60 2840 go 5 5 5 determine whether the ratios of their corresponding sides

6. Similar: =TR=JKi36 94 30'3 " 3°3% are proportional.
7. Similar: C%rrespomlﬂmgh sides arelpmpomonal; 19. 32 ft 20, 2437

corresponding angles have equal measures.

P | 8 N8 gi d tes do ot h | ( 21. 9.13 22. -20.66

8. Not similar: Corresponding angles do not have equa ' 8 min. . )

measures. 23. S 8 minutes per mile

19.5 m.
9. 4in. X 6in, 16 in. x 24 in,, 20 in. X 30 in. 24. 521 19.5 meters per second
2

10. Similar: 28 L.fl = B2 =8- 12 25. 5iing 2 CUps per serving
ll.Nots:maIar~5¢CEaﬁ% §g¢22¢3§8¢3¢7]~ 26. B
12. No, corresponding angles of the figures do not have equal

measures.

LA =
13. a. Yes; 3 ]5, 60 = 60
4
b. No,5¢ 8,32#50
c.Yes, 12 Té‘ 120 = 120

14. Yes; the side ratios are equivalent because all the sides of a

om0y e R st i 100

square are the same and squares all have four right angles.
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@ Exercises, pp. 290-291

1. 4 2. 67.2 cm tall, 40 cm wide
3. 129 mi 4 &

5. 135 in. 6. 190 mi

7. 16in. 8. 5in. (% ft)

9. Height: 2%— in,, length: 5%— in.

10. Height: 75 cm, width: 141 cm, length: 240 cm

1. 4z in. 12. About 25 mi

13. 0.81 in,, or about % in.

14 I1mi=025ftor 1 ft =4 mi

15. About 5.8 mi 16. 0.054,0.41, 3

17. -12,02,} 18. 1,072

19 0.064 20. 8.73
m. 27 22. 1.06

1. C
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@ Exercises, pp. 286—287

t.a=225wm 2. y=56m
3. 281 4. 25 ft

5. x = 135in. 6. b=721
7. 39t 8 9ft

9. 36 ft

10. Distance on mural from Venus to the Sun: 1.8 yd; actual
distance from the Sun to Mars: 1.5 AU

11. Possible answer: A pole casts a shadow that is 4 feet long.
At the same time, a tree casts a shadow that is 2 feet long.
¢ The tree is 6 feet tall. How tall is the pole? 12 ft

12. Possible answer: Write proportions using the lengths of
corresponding sides. Solve the proportions for the missing

lengths.
13. 3.75 14 w=—-13
15. y =11 16. m = 47
17.a =0 18. 1.118
19. —-30.72 20. 13.68
21. 0.1035 22. A
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